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Q.10) Consider the following pairs:

Festival State
1. Chapchar Kut: Meghalaya
2. Araku Utsav: Andhra Pradesh

3. Meena Bharani festival: Rajasthan

Which of the pairs given above is/are incorrectly
matched?

a)land 2 only

b) 2 only

c)land 3 only

d) None of the above

Q.11) Which of the following statements are
correct regarding the People’s uprisings during
British era?

. Increasing number of intermediary revenue
collectors, tenants, moneylenders caused the
exploitation of common people and gave rise
to uprisings.

2. These uprisings were very stubborn in nature
and were not pacified by concessions.

3. Destruction of indigenous industry is also a
causative factor for people’s uprising.

Select the correct answer from the codes given

below:

a)land 2 only

b) 2 and 3 only

c)land 3 only

d)1,2and3

Q.12) Which of the following is not the cause of

revolt of 1857?

l. British refusal to impose protective duties
against machine-made goods from Britain

2. Defeat of British in Boer's war

3. Religious disabilities act

4. General Service Enlistment act

Select the correct answer using the codes given
below:

a)1,2 and 4 only

b) 2 only

¢)2,3and 4 only

d)3and 4 only

Q.13) Which of the following statements is/are

correct regarding the 1857 revolt?

1. The 1857 revolt failed as most of the Rajas
and Nawabs helped the British cause.

2. The revolt was led by enlightened and
educated middle class.

3. The Madras army remained complete loyal to
the British and half of the company's troops
did not join the revolt and fought against
Indians.

Select the correct answer from the code given

below:

a)lonly

b) 2 and 3 only

c)1land 3 only

d)3only
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